PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

1st August 2016, 09:00 AM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

The first port to be developed in Gujarat after independence is / Tl & dl¢ JeiRTd A fawiya foar mar
UGl §EE §

e Kandla / ®igdl

e Kutecch / BT

® Marmagoa / wHimar

® Paradeep / qﬂ'l?ﬁ'q
Correct Answer :-Kandla / ®igal
2)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms.
Choose the third term from the following options which has a similar kind of relation with

the fourth term. / /9 Uy &, g 2 Wedl & o 5 UPR T Tey §] Frg R # § ugan e g
e gt ug & A M THR FT IEY 7]

BLOCKED : YOLXPVW : : ? : OZFMXS
e RESULT
e LAUNCH
e DEBATE
e LABOUR
Correct Answer :-LAUNCH
3)
Question Stimulus :-

IRDA in India regulates / MRT H SMTSARIIY 3! T srar g

® Banking business / Y& T
()



® TInsurance business / STHT AGHATT

® (Capital business / q\TrﬂTH gqTg

® Public issue of shares / RART DI oI Hal
Correct Answer :-Insurance business / §HT THTT
a)
Question Stimulus :-

Aditya ranks 7t from the end and 6th from the top in a class of students. Find out the total

number of students in the class /T® &1 P SEI A e o1 sifaw & 741 4oft yra g3 SR SR A TSt
ot | H&m o ST B A JBAT I B

* 10

e 11

* 12

* 14
Correct Answer :-12
5)

Question Stimulus :-

Find the word that represents the category of the following three words. / 98 g JTd PIoRA
it g & gl ot Aoft & g=ifar 3

Wheat, Barley, Rice / ﬂ‘é”, Gﬁ, EICG]
® Food /M-l
® Gram /dI
® Cereal / 3Tl

® Agriculture / Q'Tfﬁ'

Correct Answer :=Cereal / 3HTST

6)

Question Stimulus :-

©)



What is the main attraction of the Archaeological Museum of Sanchi? / TTdl & RTdd UG BT T STHYT
T 32

® Mauryan period artifacts / Y o1l Bt ﬁﬁﬁﬂﬂ
® Birla Museum, Bhopal /ﬁST‘IT'\‘i'ﬂB'IFI’q, ure
® Sculptures, terracotta and paintings / EHTI"[, RTBICT Gﬁ?’ﬁl’z’

® The lion capital of Ashokan pillar of the Mauryan Period / Hd B Bt ﬁl’b’ﬂﬁﬁﬂzﬁ BT MNP TH

Correct Answer :-The lion capital of Ashokan pillar of the Mauryan Period /ﬁﬂmaﬁﬁ'gmm‘wﬂm
SRMP TY

7)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 93 IECgY gﬁrq
S T Tyl vd frpuf & aR § 99 §:

Statements:/ ®Y:

All lambs are hares. / 4 %8 & T TN &l

Some bicycles are not lambs. / $S IEPd Ns & Ia 81 81
Conclusions: / fpd:

I. All bicycles are hares. / T Agfhd T &1

I1. Some bicycles are hares. / $9 '\‘ITQ'W TN &1

® Only conclusion | follows / Wﬁl’@ﬁf I Frean %

® Only conclusion lI follows /Wﬁ'@ﬁf n fpadan %

® Both conclusion land Il foIIows/??Fﬁ. foreed 1 Gﬁ?' I1 ﬁﬁﬁ %

® None of the conclusion | or Il follows / foreed 1 a1 11 ® '\ﬁ ?ﬁé qgf rodar %
Correct Answer :=-None of the conclusion I or Il follows / fdIgrIaa aﬂé o1 Meadar %
8)
Question Stimulus :-

The largest density of tigers in India is found in the ./ HRa # 979} 9 J99 a@ﬁ e aTell SIHIRUY L
gl

® Kahna National Park / BTGl ?T@'q REIE)

(4)



* Bandhvagarh Sanctuary / STHTTE SHIRTY

® Van Vihar Park / 9 fagR Ut

® Panna Sanctuary / UAT SIHATRTY

Correct Answer :-Bandhvagarh Sanctuary / STHAG HIRTY

9)

Question Stimulus :-

Select the statement that is the negation of the statement "All swans are stately.” /

I BYH DI A &l 39 HYF o1 Ulaare ¢ "t g9 IFT 1"

Some swans aren't stately. / $© &1 WT{&%I
No swans are stately. / &5 W 39 3T T3
Some swans are stately./ W?‘HW?I

None of the above / Buﬁaaﬁ'é T-I'é’f

Correct Answer :-Some swans aren't stately. / $© g9 I@¥ el &

10)

Question Stimulus :-

In the following diagram. / g an?ﬁrﬁ'

Circle S stands for households having a scooter;/ g9 S 39 URARI &I g=Iiar g, ’*oFF U™
TP &

Circle T stands for households having a TV set; / g9 T 3 URGRI &I g=1ia1 8, o9&
3 21

Circle W stands for households having a washing machine; / 9d W 349 ufRar & grtar %,
o I 9Tl w=i g1

Circle C stands for households having a car. / 33 C 37 URaRI &1 g=ifar 8, e g #1R 81

Note: The different numbers indicates the non-over lapping regions. For example, S
represents unions of regions 1,11,12,8,9,10 and 6. / 019 ¢: 3[R T-3eNT YWY fdaaTdt &= &1
gfrd o0t 81 Seevu & g, s asr 1,11,12,8,9,10 3R 6 ¥ T &I T &1

(®)



Households having all the four items are represented by the region.

B9 1 & IR aegait F g BT iar B
° 7
e 8
e 9
e 12
Correct Answer :-8

11)
Question Stimulus :-

Name the illustrious son of Padma Bhushan awardee Hafiz Ali Khan. / TSI YUUT QR¥PY R ECR I
3t W & URTS Y o1 A9 JaTd]

* Amjad Ali Khan / 3[HGIG 3fell @H

® Hari Prasad Chaurasia / 831 YIS JRiaar

® Shiv Kumar Sharma / RR@ PHAR Tt

® Zakir Hussain / T gﬁq
Correct Answer :-Amjad Ali Khan / 3[Hg 3¢l @MH
12)

Question Stimulus :-

Sunderban tiger reserve is in which State? Y& 919 JHIRTY g o o %?
(6)



® West Bengal / Uf3H ST
® Assam / S[HH
e Sikkim / FafewrH

® Jharkhand / SIREUS

Correct Answer :-West Bengal / U3 S

13)
Question Stimulus :-

Which of these languages is not represented on the language panel of Indian banknotes? / YRAI SH F el &

YTYT U OR S50 & DI AT UTT BT S=ITAT 81 747 82
* Bhojpuri / HISTQIT
* Bengali / ST
* Urdu/3g
® Tamil / af¥ra
Correct Answer :-Bhojpuri/ HISTgR}
14)

Question Stimulus :-

Who was the first Chief Justice of India? / HRd & TYH YT ATATH HI A2
* S.H. Kapadia / TH.Td. SUITSAT
* K.G. Balakrishnan / & Sft CLGIEAYE]
® Hari Lal J. Kania / QTS & SI{~rT
® M.P. Shastri / TH. 4. MMt

Correct Answer :-Hari Lal J. Kania / 8RaTd & HI=4T

15)
Question Stimulus :-
Branches of five banks A,B,C,D and E are as follows: / A,B,C,D 3R E UTT a1 ﬁw BE] % -

1. A, B and C are in Indore and Bhopal. / A, B 3R C &R Td Hiurd H &1

(7)



2. A, B and E are in Indore and Gwalior / A, B 3X E $&IX Ud qiferaR # 21 |
3. B, C and D are in Raipur and Bhopal. / B, C 3iR D I¥YR Td Wiura & gl
4. A, E and D are in Gwalior and Jabalpur / A, E 3{R D TIferaR U4 SR & g1
5. C,E and D are in Raipur and Jabalpur / C,E 3R D W@Wﬁ%l
In which city there is NOT any branch of B? / mwﬁ B ifﬁil'ﬁ'é Qﬂiﬂ@ﬂ'ﬁ%'?
e Jabalpur / SIgeYR
e Gwalior / dIfeRR
° Indore/?@?
e Bhopal JuaTe
Correct Answer :-Jabalpur / STdcqR
16)

Question Stimulus :-

The Kohira dam is located in the / W’%T[ Y 'CIEETI IEIG) %
® Kaimur District / a'ﬂ:B' forem
e Shivpuri / REQH
® Rewa/3al
® Dhar /YR

Correct Answer :-Kaimur District / a’_ﬂ"{ GG

17)
Question Stimulus :-

Who renounced his knighthood after the Jallianwala Bagh massacre? / SIferaiardr aRT RATR & 916 fpaq
3 T Ui s & A2

® Rabindranath Tagore / Ay TR
° Jinnah/ﬁlﬂ'l_&'

® C.V.Raman /14l 399

e S.P. Sinha / TH.4L. R8T

(8)



Correct Answer :-Rabindranath Tagore / Q&A1Y SR

18)
Question Stimulus :-

Panch tantra was written by / LEGE 3?%? 1K) fereaT T At
® Vishnu Sharma / ﬁ'ﬂﬂ eIt
® Kalidasa / CAIEE]
* Tulsi Das / gaIgN

e Ranna /Al

Correct Answer :-Vishnu Sharma / ey zmf

19)
Question Stimulus :-

Which among the following is a relatively new district of Madhya Pradesh? / H¥ U | ar&&m a1 foran

Fefsada s are?
® Rewa/ ¥
® Morena/ g%n

® Annuppur / S{-JUYR
* Dewas/ Gard

Correct Answer :-Annuppur / SIFJUYR

20)
Question Stimulus :-

The Prime Minister must be a member of / WUTTH I I 13 Ea:IT STARgD %I
* Lok Sabha / AHHHT
® Rajya Sabha / XTSI HT
® Any House of the Parliament / g & foddt off |

® Any State Legislature / st oft 3o fourHsa

©)



Correct Answer :-Any House of the Parliament / W%'ﬁ’_\‘ﬂ oft o

21)
Question Stimulus :-

Which state government has recently accorded minority status to the Jain community? /m TS HIDPIR ﬁma

H O TS B SCUSTS BT ool 14T 82
® Madhya Pradesh / 'F[W'FI%SZT

* Tamilnadu / AFHTHTg

® Uttarakhand / STRTES

® Gujarat / [oIRTd
Correct Answer :-Gujarat / TolRTd
22)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowea ﬂﬁl‘E
St 3T T FYAT TE eyl & N # 99 @

Statements: / ®YH:

All hens are cocks / T gfifar @if &

Some cocks are chicks / 9 Hﬁ ?@ %
Conclusion: / fAwpd:

I. No chick is hen / Hﬁ'&‘ ?ﬁﬂwﬁqﬁ%
II. Some hens are chicks / $9 gRfar ol &

® Only conclusion | follows / Fad ey 1 Meadar %
® Only conclusion Il follows /Wﬁr&mﬁ i Freedar %
® Both conclusion | and Il follows /aTﬁ' forepd 1 \’rﬁ? I1 ﬁﬁ% %
® None of the conclusion I or Il follows / FpdrarIIda ?ﬁg T'Iﬁ' Aaarn %
Correct Answer :-None of the conclusion | or Il follows / e IarII s 9 aﬁ% qﬁ IGEZSGI %’

23)

Question Stimulus :-

(10)



Who is the author of ‘Wings of Fire’? / I 3T BRR’ & d@® DI %'?
® Nandan Nilekeni / 7'1'37'[ Tasoh
* Dr. AP J Abdul Kalam / STo T Ut o 3[sgal HaTH
® Khushwant Singh / ZRAd Rig
® Gurucharan Das / T[¥TR0T QI

Correct Answer :-Dr. A P J Abdul Kalam / STo T Ut & 3iegd PHarrH

24)

Question Stimulus :-

Out of the four dams across river Chambal the first one was / I9d q'(;ﬁ' ¥ IIRUR & IR Fid & Tedl T
® Indira Sagar / BTeRT AR
® Gandhi Sagar / T IR
® Jawahar Sagar / SdIgR IR

® Ranapratap / ITOMTYITY

Correct Answer :-Indira Sagar / $[¢3T R

25)
Question Stimulus :-
CANCELLED

Select the option that is true about the Statements and Conclusions given: / 93 fawey T;{ﬁl'l:{
st T 7T HY=l wd Fremel & TN & 9E |1

Statements: / YH:

All hens are cocks / 4t gfifar it &

Some cocks are chicks / 9 H’f'f iﬁf g
Conclusion: / fA=pd:

I. All photos are laminations / Tl TR Radd) €
II. All laminations are photos / IWn Wa?ﬂ LRty %

® Only conclusion | follows / Haq ey 1 Headar %

(11)



® Only conclusion Il foIIows/aﬁ'ﬁﬁW& Il Freear %

® Both conclusion l and Il follows/?ﬂzﬁ: foreed 1 Gﬁ'\" 11 fred %

® None of the conclusion | or Il follows / freed 197 11 ® '\ﬁ ﬁ'é T'Iﬁ IECNGI %
Correct Answer :-Only conclusion I follows / Faa forepy 1 Feadr %
26)

Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different. Choose the odd one out. / FE U4 ¥, $© Tl &
e 33 T3 8, St |ofl, Paa TP D1 BisH, T § wiaih TP e § | v 9 e g |

e VT
* MQ
e PR
* FG
Correct Answer :-FG

27)
Question Stimulus :-

Jawahar Lal Nehru Award for International Understanding for 2015 has been given to /2015 H &quj@'q

AYT F o STaTeRaTe A8 3(ars | fpd ware w4t ur?
® Sultan Kabus Bin / euT< g™ fo
® Wangari Mathai / SRT mrré
® Angela Merkel/ Qﬁ?ﬂ nFa
® Robert Mugabe / Aac 'ﬂ"TI%

Correct Answer :-Robert Mugabe / Ja¢ GITd

28)

Question Stimulus :-

Pointing to a man, a woman said, “His mother is the only daughter of my mother.” How is the woman related to the man? /

?arrafﬂ B 3T Hhd B §U, TP ARATA BT, "I7P A A% Al Pl gdpaldl 38 21" 3R e A $A el

(12)



® Mother / HTdT
® Daughter/ |
* Wife/Tdl

® Sister /dg-

Correct Answer :-Mother / 9TdIl

29)
Question Stimulus :-

Which is the imaginary place used in RK Narayan’s stories? / 3R ¥ TR B Wﬁﬂﬁ ¥ o9 T1
HTef~Te VI YN fowar ST 82

* Malgudi / ATS!
® Nalguri / ATER[RY
 Malguri / ATERRY
* Nalgudi / TS
Correct Answer :-Malgudi / HIGHS!

30)

Question Stimulus :-

Which of these states of India has only two districts? / ﬁﬂ':f H 9 URd & fyg 7sg § pada a IEG %?
® West Bengal / Uty S
e Sikkim / Fafepd
® Goa/Tal
e Uttar Pradesh / 3% Wa=T

Correct Answer :-Goa / Tdl

31)
Question Stimulus :-

Which is the first monument from Rajasthan to appear on the list of UNESCO World Heritage sites? / XTSIRIT

A 98 UGl RS DI Wl 8, S TAws! 3y sRisy wa ot g d @2

(13)



® Birla Planetarium / ﬁ??ﬂ:f&ﬁﬂ?fq

® Vijay Stambh / faora Wy

® Taj Mahal / ST Hgd

® Jantar Mantar / Sid< HdX
Correct Answer :-Jantar Mantar / Sid¥ Hdx
32)

Question Stimulus :-

If its cookie or coffee then you get mileage and speed. You get milgage but not speed then
either it neither was a cookie nor was it coffee. / 3R Jg ﬁ'\‘@"{ T BBt '% GIRC I ED| IITsﬁW 3R
T T gt 1 Snue) g frerar @ afee wfa Y 99 an <t g e T8 un ok A1 &) wrwt A

* True / gl

e False / Tdd

e Maybe / 8 IHdr 8

e Irrelevant / 3MRIfI®
Correct Answer :-True / W&l
33)

Question Stimulus :-

The jumbled letters of words are given below. Each letter has been numbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form

meaningful word. / X3l & ARG &R 14 G T &1 yd® 31eR P SBAiferd fpar T 81 98
fawer g it wde 2reg 1 w1 & R T & wu § ieRY &1 T8l 3T B

ELBMAG

123456
e 2,1,6,3,54
e 3,1,6,4,52
* 4,56,3,1,2
* 6,54,3,21

Correct Answer :-6,5,4,3,2,1

(14)



34)
Question Stimulus :-

City Fruits orders Apples from Himachal Pradesh. The transportation cost of apples is
Rs.200 per kg and cost of storing them in a cold storage is Rs.100 per Kg. Right now there
are 100 Kgs of apples in the storage. City Fruits plans to place an order. / "R1é Fea" 3

feuT=e uex 9 9 WA &1 99 Bt uRag dRTd ufd fHal 200 FUT § 3R S9! Bies WIS A TUT B
NI wfd fFama 100 ¥uu g1 onft Tugur & 100 fFaium 99 &1 "Rl peam sk 3 &1 39

Suppose in the next month the price of apple is going to increase to Rs. 400 per kg. The
demands for the next 2 months are perceived to be 500 Kg each month. How much would
the store order given the storing and transportation costs? / HH SISy 3Td AR AT FI FIAd

7 400 TUT ufa fral 9 $1 gix 8 1 WY 21 3FTa 2 AfgH & forw srqwifva 6T 500 fFaum™ vd® A
g1 &t UsRor ok uRag #t anTa & §¢ gp ™ fha-T ara WTani?
e 400 Kg / 400 fopal)
500 Kg / 500 fopall
* 900 Kg / 900 fpeit
e 1200 Kg / 1200fFar
Correct Answer :-900 Kg / 900 fal
35)
Question Stimulus :-

What is the day on 23rd Feb 20762 / 23 WRa<l 2076 & $H T &7 82
e Monday / THAR
* Tuesday / HICdR
* Wednesday / gYdR
e Sunday / Ifqar
Correct Answer :-Sunday / IfdarR
36)

Question Stimulus :-

1. A,B,C,D,E,F and G are sitting around a circle and are facing the center. /A,B,C,D,E,F MG
TP g9 P M1 93 ¢ 3k Fg @1 ok g fpe g 71

2. G is second to the left of C, who is to the immediate left of F. / C % arff 3R G g&RT1 8, ©f F
¥ il o} e a1g &

(15)



3. A is third to the left of E / E & a1l 3R A TRRT &

4. B is between D&E / B, D SIRE$» d &

If G and E interchange their position with A and F / If¢ G 3{R E ®! S8 &1 A 3R F & 91Y 9
fear e

e D is third to the right of G / G & &Ifg-l 3R D TIE=T 1T

° BisnexttoG/B,Ga?ETI'q’ﬁTﬂ

e C and F are on either side of E / E & gl a’W C 3R F g7

. CissecondtotheleftofE/E%TSITﬂ’fGﬁ'\’CQ'\‘RTBﬁTH
Correct Answer :-C and F are on either side of E / E & gl @%b C 3R F g4l
37)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg foee
AT, 9F BT B T TR R U sy & wuH

If he has gun, then he is Bond / 9f¢ 39% TR dg® &, I 98 as @

¢ If he is not Bond, then he doesn’t has a gun / trl%agai’—-s Hﬁ%, al 9P U Wﬂﬁ%

e If he doesn’t have a gun, then he is not a Bond / fe 39 Uy EIZ{EFH'@%, a HE’EI'\I""S'
T 8
e If he is a Bond, then he has a gun / trl%a's'ﬁ—-s'%,a‘rwﬁswai@%
* None of the above / SWRIad &5 A8l
Correct Answer :-If he is not Bond, then he doesn’t has a gun / gfe 98 9 T-Iﬁ%, a
I URT Igd E 8
38)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowea

gHe, st b @1 =} F TR R 10 9 & wwE B
If it is a cow, then it gives milk. / af¢ I8 U% 7 §, o1 98 g¥ &l 1

* If it doesn't give milk, then it is not a cow. / afe ag g T8l &< B, aY a5 v T =T B

(16)



e If it gives milk, then it is a cow. /af¢ g8 gu &<l 3, 9 98 UH M B
e Cow gives milk./7Td gy adt g1
e Ramu drinks milk. RT9 g4 UtaT g

Correct Answer :-If it doesn’t give milk, then it is not a cow. /U%ﬂ%’@’ﬂﬂﬁé?ﬁ%,ﬁ’fﬂ's’
T T T8 2l

39)
Question Stimulus :-

In a row of boys, A is thirteenth from the left and D is seventeenth from the right. If in
this row A is eleventh from the right then what is the position of D from the left? /

de@] &1 TS ufad §, A 9T¢ ¥ A4l § 3R D SIfed ¥ Wl o1 afe 59 ufda § A efied @ wReai & &t
¢ A D BT VI B 4T 82

o 6th/ 6
o 7thy 7aT
e 10th 7 107
e 12th /1T
Correct Answer :-7th / 7

40)

Question Stimulus :-

Following are the three positions of a cube. / Ffaaa st o R %

(17)



TOWI

JACK

15t view

JIn

RO

TOM

2md yiew

RO

rd

View

3

Jin

What is the name in the face opposite to the face having name TOM? / TOM HTH P BAP & [qURId AP W H I

v g?
e NEAL
® JiM
e MEL

® NONE

Correct Answer :-NEAL

Topic:- Mental Ability and Mental Aptitude

1)

Question Stimulus :-

CANCELLED

How many kilograms of pure salt must be added to 20kg of 2% solution of salt and water is increase it to a 10% solution? /

20 T T 999 & 9D 3R U & 2% faees o fram frahmT Y= 79 s % 98 10% faeas gt e
o 1kg/1fHur

| B

o 13Kg/ 13 BT

5 5
e 15 kg/ 15 f&m

¥ K
e 15kg/ 15fHUT

T

Correct Answer :-15kg/ 15737

(18)



2)
Question Stimulus :-

In a certain coded language, 12448 is the code for SWEET and 943 is the code for BED. What does the figure 492311

represent in the code? / ot @ Trcdsfae T ﬁ, SWEET & ford ®ls 12448 % 3R BED & ol Bl 943 %]
FIS U TBAT 492311 T ST 82

« EDSSWB
« EBWDSS
« TWBDDS
 DSWTEE

Correct Answer :-EBWDSS

3)
Question Stimulus :-

If FOOD is coded as DNOE and BEAR as ZDAS, how is CALM coded as? / dfé FOOD &1 W d A DNOE Ud BEAR T ZDAS

foran e @ &Y cauvi B Wb H S e S 22
® ABLN
* ZALN
* AZLN
® ZNAL
Correct Answer :-AzZLN
4)

Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination: / <17 &I ¥ J@ar Rl T HRASH BT AIHH WA Bl 8| Tad Jale- Ugar-|

(i) YZ1235YQ5
(ii) YZ1235YQ5
(iii) YZ1235YQ5

(iv) YZ1253YQ5

(19)



® jy
Correct Answer :-iv

5)

Question Stimulus :-

Complete the series choosing the missing number: / AW TWAT FAHR 9GaT B TR HIfoQ :

7,9,13,21,
°* 37
° 42
* 30
* 27
Correct Answer :-37

6)

Question Stimulus :-

A man takes 5 hrs 15 min in walking a certain place and riding back. He would have gained 2 hours by riding both ways. The

time hewouldtaketowalkbothwaysis/@aﬂﬁﬁwmwwaﬁﬁGﬁTWmﬁGﬂﬁﬁSﬁ%ls
e @ €1 it 98 Y TR Tant A g d) 3P 2 € Tad | g1 R g B g8l a9 HI U I fFHan

qHY
® 3hr15min/ 3 ¥eT 15 e
® 7 hrs 15 min/ 7 "e115 fiFe
® 7hrs/7He
® 3hrs/3HC

Correct Answer :-7 hrs 15 min/ 7 9e1 15 fiqe

7)

Question Stimulus :-

(20)



Complete the series choosing the missing letter/s: / ﬁﬂ"ﬁ S&R gADR el B QA a?ri%rq :

dc_ad_ba_c_a

® bedb

® dcda

® dbda

® dhca
Correct Answer :-bcdb
8)

Question Stimulus :-

If LONAVLA is coded as NOLAAVL and GUJARAT as JUGATAR, how is HARYANA coded as? / Tf¢ LONAVLA &1 T d |

NOLAAVL ¥ GUJARAT BT JUGATAR for@T SITdT & G HARYANA B Tdbd H H9 forar S 82
® RYAHANA
e RAYHNAA
e RAHYANA
e RAYHANA
Correct Answer :-RAHYANA
9)

Question Stimulus :-

The value of 3x2-5x+3 when x=1is /vl[dx =1 % dl 3x2-5x+3 BT 71 élllll

e 3ab
Correct Answer :-1
10)
Question Stimulus :-

(21)



Complete the series choosing the missing number: / fAgW IWAT DR SGaT B TR HIOT :
1/2,3/4,5/8,7/16,

* 9/32

* 9/20

® 9/24

* 9/36
Correct Answer :-9/32
11)

Question Stimulus :-

If the difference between the squares of two consecutive integers is 25, the two numbers are / TIﬁ' 33f HHRTI E[U'l'h?;f &
Tt & 1 PT 3R 25 8, @ S B §

® 9,10

® 10,11

* 11,12

°* 12,13
Correct Answer :-12,13
12)

Question Stimulus :-

The probability that a student will receive grades A, B, C or D are 0.40, 0.35,0.15 and 0.10
respectively. What i§ the probability that a student will not receive ‘D’ gradg? /0.40,
0.35,0.15 31 0.10 JUET 8 f& T& o & 9vit v, &, W ar S Hu=r: ura grft w1 Jye g i o=

@ S s e T gRIm?
® 0.10
® 0.90
® 0.75
® 0.85

Correct Answer :-0.90

13)

(22)



Question Stimulus :-

If DOLPHIN is coded as EPMQIJO then MICROMETER is coded as / Ifé DOLPHIN &1
EPMQIJO { $ifsa frar wirar 8 9f MICROMETER &1 B ®ifsd fear s

 NJDSQNDUDS
« NKDSPNDUDS
e NJDSPNDUDS
e NJDSPNFUFS

Correct Answer :~-NIJDSPNFUFS

14)
Question Stimulus :-

45 men can complete a work in 8 days. Six days after they started working, 15 more men joined them. How many days
will they take to complete the remaining work? / 45 3eHt Uh HH pigfeaid IRT B qod %:l 3P M Bl
= H1 & 6 AT 918, 15 3R RT I9H M 8l T ThT HTH H R 1 | I fraq &1 &1 997
A2

* 1day/ 1f3a

1 _ldaj«'s {1 -
2 :

H,%DH

e 2days / 2fa

fg=

| =

1
2 —davs (2
9

I%da}'s! 1% =Gl

Correct Answer :-

15)

Question Stimulus :-

CANCELLED

The value of "C, exists if / "C, &T A a¥l g, afe
* N2r

(23)



® n<r
Correct Answer :-n=r
16)

Question Stimulus :-

What is the minimum number of lines required to construct the following diagram? / IBE)

IRW Bt [T H3A & o gy GBI § farasit Ja1sii $1 mazadmdr grit?

/\

[V

° 4
Correct Answer :-6
17)

Question Stimulus :-

A train moves with a seed of 54 km/hr. Its speed in meters per second is/ Th a? 54 fHHEer Bt T '\ﬁ?ﬁl—cﬁ'%l Hex
ufd ddvs d gaPT i g

* 12
e 15

e 18

(24)



e 10
Correct Answer :-15

18)

Question Stimulus :-

12% -[8% +{9-(5-3-2)1] 121 _[82 +{9-(5-3-2)1]

Simplify: / RE Bifr: -

|2 | —

o 1
° -1
¢ 0
e None of these / S0 | ®I5 el
Correct Answer :-None of these / 374 9 ®Is ol

19)
Question Stimulus :-

Rs.4800 is divided in the ratio 5:7.What is the value of the smaller amount? / 5:7 & 3JUrd
# ¥ 4800 F Ry forar ST 31 SISt IHH ST Iou T 82

* 2800
® 2000
® 1800
* 1900

Correct Answer :-2000

20)
Question Stimulus :-

CANCELLED

Mohammed brought_ television set for Rs. 12000. Later sold it for Rs.10000. What is his loss percent? /
Tgwe 12000 TUA T Y T AT a1¢ | 10000 FUA F 99 faam| ST 71 JHAH Hia=id 32

® 16.4%

(25)



® 15.4%

® 14.4%

® 13.4%
Correct Answer :-15.4%
21)

Question Stimulus :-

Anil’s expenditure is 60% of his income. If his expenditure increases by Rs. 2700 with 10% raise in his income, the percentage
goes up to 75%. What is his original income? / 3IfSId @1 3T HT 60% T4 | TS ITP! 3T 10% T | ITP
=g # 2700 Fo F gfF gt 7, o U= 75% qF TaT oIl 81 ITD! & 3T T 82

® Rs. 13200
® Rs. 12000
® Rs.9900
® Rs.7200

Correct Answer :-Rs. 12000

22)
Question Stimulus :-

Three successive discount of 10% , 20% and 25% are equivalentto / 10% , 20% 3R 25%
T SRR e IUgH &

® 45%
® 48%
® 46%
® None of these/ sﬁ'ﬁﬁaﬁs‘ EEi

Correct Answer :-46%

23)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / ¥ fad TR IR wdi & ¥ 9 I T wd & Sie WAE DI A1 P G 82

(26)



First light County Canoe Expeditions, Inc.
Catherine Lake
Atlanta, Georgia 30341

(404) 325-5330

(i) First light County Canoe Expeditions, Inc.
Catherine Lake
Atlanta, Georgia 30341

(404) 325-5330

(ii) First light Country Canoe Expeditions, Inc.
Catherine Lake
Atlanta, Georgia 30341

(404) 325-5330

(iii) First light County Canoe Expeditions, Inc.
Catherine Lake
Atlanta, Georgia 30341

(404) 325-5330

(iv) First light County Canoe Expeditions, Inc.
Catherine Lake
Atlanta, Georgia 30341

(404) 325-5330

(27)



Correct Answer :-ii

24)

Question Stimulus :-

The population of a city is 3,40,000. If it increases at a constant rate by 5% per annum, what is the population after two

year?/ U X P SHSAT 3,40,000 € | TfS T Ui a9 5% B THM <X T Tl g, I &I 9 91 ST FT S NI ?
* 3,77,800
* 3,74,850
* 3,74,000
* 3,76,100
Correct Answer :-3,74,850
25)

Question Stimulus :-

The average of 1,2,3,4 and 5 is? / 1,2,3,4 3R 5 &7 3i4d 82

Correct Answer :-3

26)
Question Stimulus :-

There are three alternatives for the following question. Find out the correct one. / fauy &

forg & ey €] wEt arem gig|

i. 'Tom Kun Sud’ means ‘Dogs are barking’ / ‘Tom Kun Sud’ WW% ‘Dogs are barking’
ii. ‘Kun Jo Mop’ means ‘Dogs and Horses’ / ‘Kun Jo Mop’ PT AdAS & ‘Dogs and Horses’

iii. ‘Mut Tom Mop’ means ‘Horses are mad’ / ‘Mut Tom Mop’ &I Hddd % ‘Horses are mad’

(28)



Which of the following encryption is used for ‘Horses’? / {99 # § &9 91 T<pUT ‘Horses’ &

AN §31T 82
®* Tom
* Jo
® Mut
®* Mop
Correct Answer :-Mop

27)
Question Stimulus :-

(480/240)x(17/34) - {32x4)/8}=?
e -10
e -13
e -15
e .18
Correct Answer :--15

28)

Question Stimulus :-

In the following question, one term in the number series is wrong. Find out the wrong

term. / 919 vy ¥, H=1T 4@ A TP UG Ted §] A9 UG i

2,15,41,80,134
e 15
® 30
® 134
* 41
Correct Answer :-134

29)

Question Stimulus :-



Complete the following sequence of figures / 3TFfaAl & FH HH BT R Biford:

¥

[

| e
<7 7 A

\
ED
-

/N

&9
-

Correct Answer :-

3

N/

30)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂta SERT gIHY adT Bl LRl ﬁﬁl’&’ 3

par_p_drq_pqr_r
® parr

® pqqr

(30)



IC

le Arithmet

imp
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+ 23 —3xyz

ience an
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Year

g, TET Jaded

el

=

<<<<<<<<<<<<<<<<

:::::::::::::::::
<<<<<<<<<<<<<<<<

::::::::::::::::

- Sc
+y3

6000

3
d (x+y+z)3—x3—y3—z3

® ppar

® parp

o (x+y+z)3
® x?’+y3+z3
® X

c &P o
[ — =
= (] o)
- & o
(5000,) seadny

of 5 years. Answer the following questions using the information provided. / Fafefaa umw

% fR9-R9 $u-l fiffes & 5 9 #t 3afY & oo anTa iR P Ioa ST Uar Tadr 81 IUAH BRI TS

(x+y+2) (P +y? + 2% = xy - yz —x2)

Correct Answer :=x3 + y3 + 23 - 3xyz

Question Stimulus :-

Following graph shows the Total Costs and Sales Revenues of Din-Hin Co. Ltd. for a period
SR ST ITAN B 9 Fare & oG S|

Correct Answer :=ppqgr
Question Stimulus :-

Topic

1)
2)

1991




In which year there was no change in the sales revenue as compared to the previous year?

/ &g af & fawl o & fUed af @) gaar # #9135 uRads T8 foar mare
* 1991
* 1993
* 1994
® 1995
Correct Answer :-1994
3)

Question Stimulus :-

Bryophyllum is able to reproduce vegetatively by / Sfifhad % & gRT 99wfd & ©q |

Eded g9 § & 8

® Stem /Tl

° Leaf/tﬁﬁ

® Root /SIS

® Buds present in the margin of the leaves / Ul & R A IufRIT Hear
Correct Answer :-Buds present in the margin of the leaves /W&Rﬁ ¥ R A UG pferar
a)

Question Stimulus :-

If books bought at prices ranging from Rs. 300 to Rs. 450 are sold at prices ranging from Rs. 475 to Rs. 525, what is the
greatest possible profit that might be made in selling eight books? / gfe 300 ¥ AFT 400 _YY FiHT § WS T
TEIP| Bl 475 I ABT 525 FUT H| P TR 997 oMY, T 8 T&ID! I a1 R 3ffota farar o1 I& aman
T watfis v« g2

® 1400
® 1800
® 2400
® 1600

Correct Answer :-1800

5)

(32)



Question Stimulus :-

Following graph shows the Total Costs and Sales Revenues of Din-Hin Co. Ltd. for a period of 5 years. Answer the following

questions using the information provided. /ﬁ'ﬁﬁl’@ﬂ % | ﬁ?-"%ﬂ U=l faffes & 5 91 Bt @i Ht A
AN 3R fSehT o &1 UaT Il &1 SUAY HRIg 15 BRI BT SUANT HR 19 Ta1ei & SIaa ¢ |

|T-:uta| costs @ Sales Revenue |

Rupees (1000s)

1991 1892 1993

Year

el A, TdeRT Jreed

In which year did the company made highest profit as a percentage of total costs? /m I A HUA A P dRTd >

wfa=a § I AfRF a1H FURT UT?
* 1991
° 1992
® 1994
* 1995

Correct Answer :-1995

6)
Question Stimulus :-

The sequence of events in a water cycle is / T® old T § TSHISH BT 3JHH &
® Evaporation, condensation, hibernation / 9T+, W, affepadan
® Precipitation, condensation, transpiration / a'EfUT, Y4, 'FR%ET'[

Evaporation, condensation, precipitation / T+, Y, Ll

® Transpiration ,dehydration, condensation / FI@ET'T, ﬁﬁ?ﬁw, CEE]

(33)



Correct Answer :-Evaporation, condensation, precipitation / 9T, g, L]

7)
Question Stimulus :-

How do the forest officers recognize the presence of some animals in the forest? / d- IR a7 & PO 11'5«!13?[ )

SufRIfa Y TgarT Y Hd 87

e By their voice / ST 3TaTA GRT

By some signals and tools / $& Tddd 3R IUBUN GRT

e By their droppings and footprints / 3% Wd 3R ug fas g1

e By calling them with mimic voice / &<l 3TaTH GRT 38 YHRHT
Correct Answer :-By their droppings and footprints / 37% Hd 3R Ug frg gRT
8)

Question Stimulus :-

Any straight line drawn through the center to opposite points of the circle is called
./ qa%aﬁ;mﬁgﬁaﬁﬁaﬁ%ﬁlﬂ@%ﬁaﬁmﬁ@ﬁ@sﬁqa%%ﬁgﬁwﬂ%
Fgan gl

® Radius / e

® Diameter / AN

® Chord / Sitar

® Segment / WUS
Correct Answer :-Diameter /
9)
Question Stimulus :-

Factors that contribute to the development of cyclone / d PR® ST T & faP™ d IRTeH © -
® Wind speed /dlg CIRIIT]
® Wind direction / a1 &1 fa=m
® Temperature / TYHTA

® All of the above / Sudaa Tt
(34)



Correct Answer :-All of the above / STdad It

10)
Question Stimulus :-

Products of neutralization reaction are always / FregvTa sifufsear & Il '\‘I%H 3-1'?[ %
® an acid and a base /WW@TW&I‘R’
® an acid and asalt / WW@?WW
® asalt and water / T oqUl 3R &
®* asalt and a base / WWGﬁTW&ﬂT

Correct Answer :-a salt and water / T @Il 3R Wi

11)
Question Stimulus :-

{an}is a sequence of integers where a; = 1, and ap+n = am + ap + mn, for all positive

integers m and n. Then the value of a5 is / {am} Tﬂmmw SqshH g o8l
Tt eFT® QUi m Td n & RiT ay = 1, T amen = @m + an + mn| 99 ag5 $T A
gl
° 120
e 121
e 118
e 119

Correct Answer :=120

12)
Question Stimulus :-

The area of a triangle ABC, right-angled at B, with AB=3 cm, BC=4 cm is ./ @I ABC &t f6 B W
HHSIUT FATGT § TUT AB=3 91, BC=4 T &, SHST &% ghM

® 12 cm?2/ 12 JHI 2
e 7cm?/7 92

° 6cm2/6'\ﬁ1:ﬂ2

(35)



* 10 cm? /10 I+t 2
Correct Answer :-6 cm? / 6 TH 2
13)

Question Stimulus :-

An almost pure form of carbon used in the manufacture of steel is / U< *® ﬁﬁl’l:ﬁ'UT | W Ca) ﬁ? B3l
T Y& T FANT BT &

® coal/ CAD|

® charcoal / BISHIAA

® coke /ﬂﬁ??

* both B and C /@I B 3R C

Correct Answer :-coke / BIH

14)
Question Stimulus :-

If A = 30°, find sin 3A / Tf¢ A = 30°, sin 3A Td $3|

* 12

Correct Answer :-1

15)
Question Stimulus :-

Following graph shows the Total Costs and Sales Revenues of Din-Hin Co. Ltd. for a period
of 5 years. Answer the following questions using the information provided. /

ﬁ%%ﬁﬁﬁ%%smﬁmﬁwmmﬁﬁmmmmélmmﬁ
SAFSHRN BT ST R 7 Faral & SaE ¢
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|ETOtaI costs A Sales Revenue |

Rupees (000s)

1891 1992 1983 1594 1935

Year

thel WA, Tdsnl JToied

The sales revenue in the year 1992 was Rs. 520,000. What was the prpfit percentage on
costs for year 1992? / 99 1992 ¥ {3} IoRG 520,000 U 4T ot 9§ 1992 H ANT U ATH

HqT Y1?

* 2%

* 4%

®* 6%

® 8%
Correct Answer :-4 %
16)

Question Stimulus :-

The green pigment in plants, responsible for the process of photosynthesis is / urel o 3} quie oY o wer=n

HxAwor st uikar & e Rmier gid §
e Chloroplast / BRI@IH
e Chlorophyll / quigiRd
e Xanthophyll / TUTdtd

® JLeucopene /?@ﬁ?

Correct Answer :-Chlorophyll / qofgf¥a

17)
(37)



Question Stimulus :-
CANCELLED

The length of the longest rod that can be placed in a room 30 m long, 24 m broad and 18 m high is ./ 3H

Irdaw s o TS S 30 HIeR 99, 200 iR AT SR 1s R A TR AT T IAF &

® 30m

. 152

m

3042
m

30452
Correct Answer :- “’rm

18)
Question Stimulus :-

Following graph shows the Total Costs and Sales Revenues of Din-Hin Co. Ltd. for a period
of 5 years. Answer the following questions using the information provided. / fAaferfaa uw

# fR9-R9 $u-l fifiks & 5 O @1 3@l $1 $a anTd iR ) IoRa &1 uar Ie«ar 31 IuAsy HS TS
SAMSRT ST ITAN HR 9 Farei & ame S|

|ETataI costs @ Sales Revenue |

Rupees (1000s)

1991 1992 1993

Year

Thel SEId, el Jhored

In which of the following years did the company made lowest profit as a percentage of

total costs? / U a6l & & HI & 94 H§ HU A $d AR & U= & TG4 HH ATH HHART?

® 1992

(38)



® 1993
® 1994
® 1995

Correct Answer :-1993

19)

Question Stimulus :-

A ray of light falls on a plane mirror and gets reflected along the same direction, what is the angle of incidence? /

TP IR SUUT IR UHT $t foheor R 8 ok It fozm # Sua orar usdl @ of 3muad $ior fpan 82

e 90°
o 450
e 180"
e (°

Correct Answer :-90°

20)
Question Stimulus :-

(256) * (27) * (2) * (43) =

Correct Answer :-1

21)

Question Stimulus :-

The source of sound used in medical & surgical diagnosis in hospitals is / 3reyaral H fafesr

T4 vy feifrear AeM | @ & did &1 v foar wien 8

® Infrasonic sound / MUY T



e Ultrasonic sound / TRTYST €af

* Audible sound / 47

* Supersonic sound / TRTAN® taf=q
Correct Answer :-Ultrasonic sound / TRT¥ST @
22)

Question Stimulus :-

Choose the INCORRECT statement with respect to an electric fuse / faorelt & RSl & HaY § TAd 9 BT
A B -

Fuses are inserted in electric circuits of all buildings / Ut wanil & foerelt & afbe o WISt STAT STl ?

® There is a maximum limit on the current which can safely flow through the electric circuits / ﬁ'g‘ﬂﬁl’ YRT DI

T Sifman A 8, Sife WRiga 0 A el & affe & areaw 9 vare o% 9o« 3

® There is a minimum limit on the current which can safely flow through the electric circuits / ﬁ'gqa YRT DI

TP gAaq T B, i RS ©u I ol & afbe & a1 I yarg & It g

 In presence of an electric fuse in a circuit, it will blow off if the

current exceeds the safe limit / T afée § faoreht & w1 @1 Suff &, afe figaa
YR FRIg dar & arftres gt &) 39 <3 Se1 i

Correct Answer :-There is a minimum limit on the current which can safely flow through the electric

circuits / FTAgTd URT B T riaw 1 &, Sifs R U A Aot & afbe F meam 3 var o~ 9ot g

23)
Question Stimulus :-

Which one of the following is not a product of the forest? / f=1% #q BT TP 9 BT IAIG 6l &
e Gum,rubber /g, ITS
e Spices,oils / 79Td, dd
¢ Fodder,medicines / 9RRT, &dT¢

e Kerosene,diesel / fugt &1 d4, Siva

Correct Answer :-Kerosene,diesel ; figl &1 a4, Soia

24)

Question Stimulus :-

(40)



Two forces of 12 N & 6 N act on an object. They both act in the same direction. The magnitude of the
resultant force is / T a¥g UX G 96 12N TH 6N BRI | §HI GuH 32m # srieR) g uRumd 9a &1
gRaTr g :

e 12N

®* 6N

e 18N

e 72N

Correct Answer =18 N

25)
Question Stimulus :-
CANCELLED

Ina -“—'iABC, D and E are points on the sides AB and AC respectively, such that DE || BC. If
AD = 7, AE = 8, DB = x - 4 and EC = 3x - 19, find x. / AABC ¥ D 9 E %UT: Ysliaii AB 9 AC
R UPR R 8 7% DE || BC. af¢ AD = 7, AE = 8, DB = x - 4 3R EC = 3x — 19 d x I |

Correct Answer :-11

26)

Question Stimulus :-

Following graph shows the Total Costs and Sales Revenues of Din-Hin Co. Ltd. for a period of 5 years. Answer the following

questions using the information provided. /ﬁgﬁr@a U1 | ﬁ_"[-f%:[ Hul fefids & 5 9 31 @iy &l Pd
ARTT 3R fe} IoRa BT Ual gadr g1 ST HS T SR BT SUANT H= (57 Taral & e S |

(41)



E Total costs A Sales Revenue |

Ll el bl o el el L L LS Ll L s ]

1891 1992 1933

Year

thel WA, Tdsnl JToied

In which year did the sales revenues increase the most as compared to previous years’ sales revenue? / foa af A fawt

o | fisd a1a & faw! worg ot ga-n | I it gfs g8 o

® 1991
® 1992
® 1993
® 1994
Correct Answer :-1992
27)

Question Stimulus :-

Sometimes People slip & fall when they try to walk on a wet floor because / W 4t 59 &1 a v w
T P DI Hd &, a9 9 R 91 &, Fife

* The friction between the floor & their feet is reduced / WX Td 3P W & = o 9 RESIGI %
* The friction between the floor & their feet is increased / T=I Td 3P WY F 7 Tfor CEACIG| g

e Of absence of friction altogether / TYUI ®T T3 @8 UG glaT 3

® Friction slows down our movement / 90T AR} fd &1 fAT I ST &

Correct Answer :-The friction between the floor & their feet is reduced / B2 Td 3P UI & ST gy
U gl oIl 3

28)
(42)



Question Stimulus :-

Soil is formed by the breaking down of rocks by the action of wind water and climate. Name the process / 8dl,

U 3R Hiaw Ft foranei gRT g & gen @ ger &1 fAwmior gt |1 39 uftkan @1 A Jarsul
e Soil profile / Fa&T U=
* Weathering / 3TG&RI0T
® Soil erosion / &I UG
® Soil formation / g&T frHfor
Correct Answer :-Weathering / 3[U&IUT
29)

Question Stimulus :-

The average age of three boys is 25 years and their ages are in the proportion 3 : 5 : 7. The age of the youngest boy is: / =

qSH] P 3T 3G 25 T9 § T IAP] 3Y BT U 3:5:7 81 Ja4 Bl AP P 39 8:
* 9years / 9 T4
® 15years / 1594
® 18years / 18 9
* gyears / 8 T4
Correct Answer :-15years / 15 99

30)
Question Stimulus :-

Choose the statement that is wrong about Amoeba / 3ffiar & IR § Tad $YF FT 997 PITI

® Have pseudopodia / HET‘H%

e Are multicellular / SEHIRGIT T 3

® Parasitic amoeba causes dysentery /tl?ﬁﬂff 3rHftar '\‘I’ﬂ?’uﬁ DT HRUT d4dT %
® ]t can be seeninpondwater/ﬁﬁﬁﬂﬁ%ﬁﬁm\_TIT'\‘:IW%

Correct Answer :-Are multicellular / aﬁﬂﬁﬁﬁﬁ'ﬂ B
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